John 1:1
Mark 12:22



 is the consequential use of the conjunction KAI, meaning “and so,” followed by the nominative subject from the masculine plural article and cardinal adjective HEPTA, meaning “the seven.”  Then we have the negative OUK, meaning “not” plus the third person plural aorist active indicative from the verb APHIĒMI, which means “to leave behind.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that the seven produced the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the accusative direct object from the neuter singular noun SPERMA, meaning “a descendant.”

“and so the seven did not leave behind a descendent.”
 is the temporal adverb ESCHATOS plus the ablative of the whole from the neuter plural adjective PAS, meaning “Last of all.”  Then we have the adjunctive or adverbial use of the conjunction KAI, meaning “also.”  This is followed by the nominative subject from the feminine singular article and noun GUNĒ, which means “the woman.”  Finally, we have the third person singular aorist active indicative from the verb APOTHNĒISKW, which means “to die.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that the woman produced the action.


The indicative mood is declarative for a simple statement of fact.

“Last of all the woman also died.”
Mk 12:22 corrected translation
“and so the seven did not leave behind a descendent.  Last of all the woman also died.”
Explanation:
1.  “and so the seven did not leave behind a descendent.”

a.  The representative of the Sadducees concludes his hypothetical situation with a statement of “overkill.”  Not only have three successive brothers married the same woman and died childless, but now the rest of the seven brothers did likewise.  Therefore, we have the exaggerated and absurd situation of seven brothers having married the same woman in succession and all of them dying without having any children by her.


b.  There is no significance to the number seven.  It is nothing more than exaggeration for no purpose, since the same problem applies to the woman if she marries two brothers or any number beyond that.


c.  Also the fact that the woman is childless really has no bearing in the situation as well.  What if the woman had a child with each brother and he died of natural causes?  Doesn’t the woman have the right of remarriage?  Yes.  And don’t each of the brothers have the right to marry her provided they are not already married?  Yes.  So having or not having children is really irrelevant to the situation and problem being described.

2.  “Last of all the woman also died.”

a.  The Sadducees conclude the story with the death of the woman.  This is required since the question they are about to ask Jesus concerns the resurrection.  This will not be a question about resuscitation but resurrection, which the Sadducees assert will not exist or occur.


b.  So in summary the Sadducees present a situation where seven brothers marry in succession the same woman, after each of the brothers die without the woman bearing any descendants.  Finally, she dies as well.  The entire family line is left without an heir and namesake.  Interestingly the question the Sadducees will now ask has nothing to do with the end of the family name and family line.  The fact there is no longer an heir to the family line is treated as being irrelevant.  Thus the levirate issue becomes a completely false issue in the hypothetical story.  Being childless is meaningless with the subject of whose wife she will be.  Suppose she had a child by the first brother, and the second brother was single and wanted to marry her after the death of his brother.  Wouldn’t the same question still apply—whose wife will she be?—regardless of there being a child or not?


c.  So now that the situation is set, the Sadducees ask their question about resurrection, which is designed to make Jesus look foolish and stupid.  You can hear them in their arrogance smirking in the background, thinking that they have Him trapped.

3.  Commentators’ comments.


a.  “Since the seven men have died, and also the woman, the interest of the case had passed over into the future life, if there was such a thing [according to the thinking of the Sadducees].”
 

b.  “The Sadducees made up a story about seven brothers who successively fulfilled the duty of levirate marriage to their first brother’s wife but all seven died childless.  Then the woman died also.”


c.  “According to them there was a certain woman who had been wife in succession to seven brothers, and had outlived them all.  According to the levirate order, if a man died leaving no heir his brother was to take the widow to be his own wife; and the first child born of the new union would inherit the estates of the former husband. In the story they told, this law was carried to an extreme, seven brothers dying one after the other and all leaving the childless widow behind them.”


d.  “The case put forward by the Sadducees is particularly extreme.  Not only had six [no, seven] brothers attempted and failed to impregnate the woman in question, but she had also outlived them all and was single when she died.”


e.  “This childlessness is specified as the chief element in the indeterminateness of the question, since if either of them had had children, that might have decided the question to whom the woman belonged.”


f.  “None of the seven left seed.  That is a vital point in the inquiry.  The moment one brother would have begotten a child, the levirate marriage would have ceased, and, as far as the resurrection is concerned, the claim could be set up that she was this brother’s wife in the hereafter.  The old trick of playing one word of Scripture (one that seems to suit our error) against some great Scripture doctrine, which is buttressed by any number of Scripture words, was practiced already in the days of the Sadducees.”
  Just because the levirate issue “would have ceased” doesn’t mean that the woman couldn’t still remarry another brother.  The issue of whose wife would she be is still valid.  What if she has children by each of the last seven brothers?  Don’t we still have the same question—whose wife will she be?
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